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QUESTION 1

Which file system protocol is supported by vSphere? 

A. NFS 

B. iSCSI 

C. SAN 

D. vSAN 

Correct Answer: A 

 

QUESTION 2

Which two block storage protocols are supported on vSphere? 

A. SAB 

B. SMB 

C. ISCSI 

D. NFSv4.1 

E. NFSv3 

Correct Answer: AC 

 

QUESTION 3

A vSphere administrator is unable to remove an ESXi host from a vSphere Distributed Switch (VDS). Which two
reasons could have caused this issue? 

A. The VDS is configured with ingress traffic shaping. 

B. Virtual machines network adapters on the host are connected to the switch 

C. Virtual machine network adapters are faulty. 

D. The ESXi host is connected to another VDS. 

E. The ESXi host had VMkernel adapters assigned to the switch. 

Correct Answer: BD 

 

QUESTION 4
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An administrator is browsing datastore and notices a file with a .vmtx extension. What are the contents of this file? 

A. Virtual machine snapshot 

B. Virtual disk characteristics 

C. Template configuration 

D. Virtual machine configuration 

Correct Answer: C 

 

QUESTION 5

An administrator needs to separate traffic of virtual machine live migrations from all other traffic. Which TCP/IP stack
meets this requirement? 

A. Fault Tolerance logging TCP/IP stack 

B. Provisioning TCP/IP stack 

C. vMotion TCP/IP stack 

D. Management TCP/IP stack 

Correct Answer: C 

 

QUESTION 6

What does it mean if a virtual machine (VM) has a high RDS score? 

A. It requires access to more resource as soon as possible. 

B. It has poor performance in the current host. 

C. It is in conflict over access to a shared resource. 

D. Its resource requirements are met most of the time. 

Correct Answer: A 

 

QUESTION 7

Which two storage protocols can a virtual infrastructure operator use to create a VMFS datastore? (Choose two.) 

A. Fibre Channel 

B. NFS 

C. iSCSI 
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D. CIFS 

E. SMB 

Correct Answer: AC 

 

QUESTION 8

An administrator is migrating 100 virtual machines from one ESXi Host to another. The current lGigE network cards are
only migrating four virtual machines simultaneously. 

Which action should the administrator take to increase that number to eight? 

A. Add more memory to the ESXI hosts 

B. Add a 10GigE network card to each ESXI host 

C. Configure port mirroring 

D. Configure Load Balancing 

Correct Answer: B 

 

QUESTION 9

What is the default encrypted vSphere vMotion state for virtual machines that are not encrypted? 

A. Disabled 

B. Required 

C. Opportunistic 

D. Enabled 

Correct Answer: C 

 

QUESTION 10

Which problem is solved by migrating virtual machines (VMs) using vSphere vMotion? 

A. A vSphere cluster that needs to be upgraded without any VM downtime. 

B. A problem that occurred during VM patching and a roll-back is needed. 

C. The names of the VM files that do not match the inventory name of the VM. 

D. Heavy storage traffic and latency that are concentrated in a few datastores. 

Correct Answer: C 
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QUESTION 11

Which feature mist an administrator use to revert back to the previous of a VM template? 

A. VM Snapshots 

B. Content Library 

C. VMware Tools 

D. Storage vMotion 

Correct Answer: B 

 

QUESTION 12

Which action should an administrator use to restore a virtual machine to a previous state? 

A. Consolidate snapshot 

B. Revert to the latest snapshot 

C. Delete all snapshot 

D. Take snapshot 

Correct Answer: B 

 

QUESTION 13

Refer to the exhibit: 

Which piece of information should a vSphere operator conclude about iSCSI-01? 

A. The datastore failed because it reached its capacity limit. 

B. The datastore does not have any free capacity. 

C. The disk usage on the datastore is above 75%. 
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D. The datastore usage on disk was reset to green. 

Correct Answer: C 

 

QUESTION 14

An administrator is tasked with evacuating a storage array because it has been replaced. Which feature meets this
requirement? 

A. Predictive DRS 

B. Proactive HA 

C. Storage vMotion 

D. vSphere vmotion 

Correct Answer: C 

 

QUESTION 15

A system administrator needs to configure a virtual machine to guarantee that it always gets the appropriate resource
even if the host os overloaded and overcommitted. 

Which setting on the virtual machine does the administrator need to configure? 

A. vSphere High Availability Admission Control 

B. CPU and Memory Shares to High 

C. CPU and Memory Reservations 

D. High Performance Power Policy 

Correct Answer: C 
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